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Special exam for
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1. Explain  shortly  the principal ideas of the following mechanism. Where and why are they  used and how they function? (5p each)

· Modem

· PCM

· CRC

2.   Why and where are bridges used?   How does  the transparent bridge function? 

       What are its   benefits and drawbacks? (15 p)

3. An application  A is sending  data to an other application  B across Internet ie. a huge network of LANs, MANs, and WANS  connected by backbones and  routers. What kind of addresses are needed  in different layers of data communication. Where and how one gets the necessary addresses in each layer?

4. TCP protocol

a) The TCP protocol used has the maximum segment size of 1 kilobytes and the threshold value of 32 kilobytes. The receiver window is 35 kilobytes. Suppose that the network connection has  a 20ms round trip time. Show with graph how  the sender is sending  the first 200 kilobytes of data in that connection supposing the acknowledgements arrive well in time. (6p)

b)  How does the sending continue, if there is no acknowledgement to the last segment sent? (3p)

c) Why in TCP protocol, it is so important to give the retransmission timer proper values? How are the proper values for the transmission timer achieved? (6 p)

